Lesgon 24 - F\i%\/xtr Byducr Yokl Deyiyatives

Exam 3 + X

Posted Oct 30, 2023 10:38 AM

Exam 3 is Wednesday, November 8 from 6:30pm-7:30pm. The location of the exam
will depend on your instructor (and please note that these locations are different

than the first 2 exams):

Ben Doyle: LILY 1105

Victor Hughes: CL50 224

Jakayla Robbins: LILY 1105

Alexandra Cuadra: CL50 224

Dave Norris: CL50 224

There is an exam memo in Brightspace under Contents->Exam Information with
more detailed information about the exam. You will be emailed a seating assignment

closer to the exam date.

Attachment(s):

B Exam3Memo.pdf (41.65 KB)
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